3037 NALOVO SANGAM SCHOOL
YEAR 8 Enqglish

WORKSHEET 2
1. Peter, I know well, is getting married soon.
A who
B. whom
C. whose
D. who’s
2. Which of the sentences show correct punctuation mark?
A. is it raining.
B. Is it raining,
C. Is it raining?
D. is it raining!
3. Rusiate was taken to the hospital last night. The proper noun in the
sentence is
A taken
B. last
C. hospital
D. Rusiate
4. Which word is spelt correctly?
A. assemble
B. asociation
C. inocence
D. ingredents
5. Ramu needs to his tooth filled.
A have
B. has
C. had
D. having
6. At Saweni, we a picnic on the beach and swam in the sea.
A. have
B. had
C. has
D. IS
7. Jone was happy to home before dark.
A reach
B. reached
C. reaching
D. reaches
8. We should paint the roof. The roof needs
A painting
B paints
C painted
D painter
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QUESTIONS

1

6

8

9.

10. If 2.055 is multiplied by 100, the correct answer would be

3037 NALOVO SANGAM SCHOOL
YEAR8 MATHS
WORKSHEET 2

1 Mr. Prasad bought %kg sugar. This is equal to grams

The number 1540 212 when written in words is
What name is given to a polygon with nine sides?

The place value of 7 in the number 67 210 is

5. Which number does not belong to the pattern shown in Set P?

pP={...101, 110, 119, 128, 136 ...}

A student scored the following marks in a test.

Maths 12
Basic Science 13
Health Science 15

English 20
Social Science 10

The student’s average mark for the test is

L
The diagram above shows the net of a

When we change 0.45 meters into centimeters it would be

How many milliliters are there in 1.5 liters of water?
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3037 NALOVO SANGAM SCHOOL
YEAR 8 Healthy Living

WORKSHEET 2
1. Which of following could probably be the largest contributor to global warming?
A. Driving a car.
B. Riding a bike.
C. Buying more stuff.
D. Planting less trees.
2. The leading cause of death in Fiji and worldwide is
A. Asthma.
B. Malnutrition.
C. Heart attack.
D. Conjunctivitis.
3. How can one control his or her blood pressure?
A Having an imbalanced diet.
B. Keeping an unhealthy weight.
C. Increasing salt-intake in meals.
D. Having regular exercise.

4. One of the signs of physical growth for adolescent boys is
A Widening of hips

B. Breast development.
C. The start of menstruation.
D. Growth of body and facial hair.
5. Which age group of people is often associated with Non- Communicable Diseases?
A. Youths.
B. Adults.
C. Elderly.
D. Children.
Matching
Column | Column 11
1.  Plenty of fiber A. Emotional ups and down
2. Membrane B. A thin flexible skin like tissue.
3. Hormones C. Packaged in boxes and cans
4.  Processed foods D. A chemical messenger .
Eye complication caused by
5. Mood swings E. diabetes.
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3037 NALOVO SANGAM SCHOOL

YEAR8 Hindi
WORKSHEET 2
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3037 NALOVO SANGAM SCHOOL

YEAR 8 Social Science

WORKSHEET 2

1. The UNESCO also contributes to the .
A. eradication of poverty B. preservation of natural diversity
C. attainment of good health D. defeat of hunger
2. Tongans are members of the group of people.
A Melanesian
B. Negroid
C. Polynesian
D. Mongoloid.
Another name for commonwealth Games is
British Empire Games.
Olympic games.
South Pacific Games.
International games.
Levuka town is one of the World Heritage Sites in Fiji. This was developed in order to
A A. help in communication process.
B. run its economies system smoothly
C. enlarge the Levuka town into a city
D. promote and preserve Fiji’s cultural and natural heritage
5. The common issue that countries of the world face is
A. increasing sea level B. increasing crime rates
C. increasing population D. increasing refugees

POOmPW

Graph Study (Questions 5-8)
Use the graph given below to help you answer Questlons 5-8.

III

2006 2008 2010 2z 2014 2016 2018
5. Which year has the least percentage of death?

6.Which two years have the same percentage of deaths ?

7. List two causes of road deaths.

8.State two ways in which road accidents can be prevented.
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3037 NALOVO SANGAM SCHOOL
KALASI 8

VEIKA VAKAVITI
WORKSHEET #2

NA I VOLA NI KEREKERE

Ko vuli tiko e na Totolo Primary School, Wasaliwa. Vola e dua na 1 vola ni veisureti
vel koya na Vuniwai ni Bati e Korotoutou, Wasaliwa me mai vosa e na ulutaga “Na
Bati Bulabula Vinaka,” e na 1 ka tini ka ono (13) ni siga ni Okotova, e na tini na
kaloko e na mataka.

Vakaraitaka vua ni ra na tiko na 1 tubutubu e na siga oqori, me vaka ni
vakananumi tale tiko ga kina na Siga ni Kakana e Vuravura.

Vakaraitaka se cava na 1 naki ni soqo ka sureti me la’ki vosa kina. Me yacamu
buli ko Vilisi Tiko ke ko goneyalewa se ko Vilimoni Basu ke ko gonetagane.
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3037 NALOVO SANGAM SCHOOL
YEAR 8 Basic Science
WORKSHEET 2

1. What name is given to the surrounding of an organism?
A. Environment
B. Habitat
C. Surrounding
D. Area
2. Which place in Fiji has been recognised as the home of endemic species, the
Tagimocia flower?
A. Ba
B. Kadavu
C. Lau
D. Taveuni
3. The function of the large intestine in humans is to
A. absorb water
B. absorb nutrients and minerals
C. digest food
D. absorb food
4. The main source of energy is from the
A. producer
B. Primary Consumer
C. Secondary Consumer
D. sun
5. Some species have become extinct. What does that mean?
A. They are in abundance
B. They exist only in a particular place
C. They are about to finish
D.

They no longer exis
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